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Note : Use separate answer sheets for Part-I and Part-II. Be 
brief and precise in your answers. Draw neat and labelled 
diagrams, wherever necessary. 

PART-I 

ANIMAL PHYSIOLOGY 

Note : 	Question No. 1 is compulsory. Attempt any 
four questions from question No. 2 to 7. 

1. 	(a) What do the following abbreviations stand 
for ? 

(i) EPSP 

(ii) T3  

(iii) 2, 3 - DPG 

(b) 	Fill in the blanks : 

(i) In a sarcomere, the lighter region in 
the middle of the A-band is called 

(ii) In a vertebrate Kidney, angiotensin-II 
is degraded by an enzyme called 
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(iii) In a resting muscle, Ca ++ is largely 

confined to the 

of the sarcoplasmic 

reticulum. 

(c) 	Match the terms in column I with those in 	2 

column II : 

Column I 	 Column II 

(I) Dyenein arms (A) Neuro -

transmitter 

(ii) Ovary (B) Estrogen 

(iii) Para thormone (C) Cilium 

(iv) Epinephrine (0) Increases 

blood Ca++  

	

2. 	(a) 	Give the active form of the following : 	11/2 
(i) pepsinogen 

(ii) trypsinogen 

(iii) chymotrypsinogen 

(b) 

	

	Briefly discuss the role of haemoglobin in 31/2 

the transportation of oxygen in our body. 

	

3. 	Describe the process of urine concentration in a 	5 

mammalian nephron with the help of a suitable 

diagram. 

	

4. 	A freshwater teleost is hyperosmotic to its 	5 

surrounding medium. How does it prevent 

excessive gain of water and net loss of salts for its 

survival ? Explain. 
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5. 	Describe the role of insect hormones in their 	5 

moulting and development. 

	

6. 	(a) Give an alternate name for each of the 21/2 

following coagulation factors : 

(i) factor II ; 

(ii) factor IV ; 

(iii) factor IX ; 

(iv) factor XI ; 

(v) factor XII. 

(b) Discuss in brief the process of blood clotting 21/2 

in humans. 

	

7. 	Explain how when external environment 	5 

temperature is low, mammals generate heat in 

order to maintain a constant body temperature. 
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(iii) 2, 3 - DPG 

LSE-05 	 5 	 P.T.O. 



(b) "ftf T.P-TM 	 : 

(i) 	-) 	*1 riv-R 4 A-At t 

trr ah1r alai t 

4 q',v-112.1:+11-ii chi 3TITEF-9-  

	 1.■311*4-1 'gR1 filar . i  

	

5;TIT 	 Q^c4i 4-1 (Ca++) 

	

3-TR.Twfm: 	ucil,374-1  I 1H 

	 Tftf-Td- 

(c) ohm,' I 	f'q   	art chic14-1 II 
	

2 

Trfq fict7,7 : 

chici H I 	 cr) tog II 

(i) TAT 	(A) cir*-1-c1it 

(ii) 3It-RFT 	(B) 7-91-A7 

(iii) (C) 	r4C'iq 4-1 

(iv) m-) 	(D) 	4 Ca++ ch)-  

t 

2. 	(a) f91RThfuff Tr'wzi t,t4 fifes: 

(i) of 	NRi s51~1  

(ii)  

(iii)  

(b) TEEft T-{TT 43Tf-Irlq-i 	4 	rilrq 
	

31/2 

11 
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3. 	 -9-fwzrr 
	

5 

3-Titu ch1 	1-F-A7 

	

4. 	1, 3T11a-ur 7otzt 	C131 	31-74 31-m--crm 
	

5 

irrwg t f 31-f-d-ER-Rt 	t I t-11-111“ rch a 	fir 
	 3-Tcr4 	71-r—d-U 	TU4 t 	f;1(-CR •TICI 

-qz3TT 3 	rqz uzi 	ti 

	

5. 	-IH 	*trft-d%h .-1-z-tirrlq ch1 ItfTrwr 	auf-i 	5 

C I 

	

6. 	(a) 	-14--1 
	 21/2 

	

Tzru 	 Trzrizr 	-r14 fFti7 : 

chltch II 

(ii) *Itch IV 

(iii) chich IX 

(iv) *itch XI 

(v) chit* XII 

	

(b) TIT9A Tfi-TT 2T-4zh7 3ff-01T air TOcr 4 •qui-9- -wlf---A7 
	

21/2 

	

7. 	ItklI 'Wf\-1 1  fT f*-1,1 '9-WrT 	3-11:14 	attlIcitul 	5 

C1144-11-I 	a 	chH 	TR 	(7311-0 30-N cht 

3174 7IftT 	(-11-11-1 	TIN- 't I 
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Note : 	Q. no 1 is compulsory. Attempt any four questions 

from Q. No 2 to 6. 

PART-II 
PLANT PHYSIOLOGY 

1. 	(a) Complete the following statements by 

choosing the correct alternative from words 

given within brackets : 	 1/2x2=1 

(i) Substance, which causes elongation of 

genetically dwarf plants is (auxin/gib- 

berellin/ ethylene). 

(ii) Ultimate electron acceptor during light 

reaction of photo - synthesis is (FAD/ 

NAD7 NADP+). 

(b) Fill in the blanks : 	 1x2=2 

(i) plays an important role 

in opening and closing of stomata. 

(ii) Number of ATP molecules required to 

fix one molecule of CO2  in photosyn- 

thesis is 	 
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(c) Give one word for each of the following 

statements : 	 1x2=2 

(i) The process of formation of an amino 

acid through a reaction between 

glutamic acid and a keto acid. 

(ii) Particles seen on freeze - fractured 

thylakoids, each absorbing, transport-

ing and utilizing a quantum of light. 

2. (a) What is water potential Op ) ? Name any 	2 

two components that determine p  of a cell. 

(b) Define transpiration. How is this process 1+2 

involved in ascent of sap in tall trees ? 

3. Describe the process of fixation of CO2  during 	5 
dark reactions of photosynthesis. 

4. What is the role of nitrogenase in nitrogen me- 

tabolism of plants ? Also discuss briefly the fac- 

tors affecting its activity. 	 2+3=5 

5. Define short day, long day and day neutral plants 

with examples. Why is it more appropriate to 

call a short day plant a long night plant ? 	3+2=5 

6. Write short notes on any two : 	 21/2x2=5 
(a) Phloem loading 

(b) Effects of biological stress on plants. 

(c) Biological Clock 
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(c) 	1:i+-irorod -4 A -97:TT *. 1- •crT.- , 7r 
-f-fffa7 : 	 1x2=2 

(i) 1  7f1:0 3.TTE chi TqaTrTfT" 3 

3-firfwzri Tu 3 qi I 

(ii) -9-f-afq 	Tfv-- tsft 

4;1- 	cc 	-4 Fa sii-f 	1-)ur ' \I) 	cfolid4-1 
MchRI 6),11 	3T-4vrlfi9m ab t d*-1.111717-4ti 

2. (a) 	,31c-f fasTa ( ) f ' 	' ?  :t4 .A1 
	

2 

ft-,P4 	7--o-faiTa a-)1 i;r1Trf-a-ff 	tt 
(b) 

	

	 01R:411 -W1f-771 )-'4 -t*-4“-itut 1+2 
fw-arr qzrr t? 

3. chrl 3 	14 34-F1zrr 	CO2 	5 
ft-24-ftm-vTr 

4. MT:4 11 -4\111 	 d414-c14 14 -114 \71.-f 	Th-TT-q9.  
t? 7T-4.  '-ir9r)idi chl THTF-Td7-4 
cht 7,ffita 
	 2+3=5 

5. t-cia-do 	fir f9T4T 	a->1 
cir(s.eqtutv-kffrr-A71 f---1=ftalTcrs 

	

tEfut tqr*-1-F1 4-ff -T.ffr c4 61=4i t? 	3+2=5 

6. 1;14--iro [c-11:17 	 4N-Tcff 

(a) 711147 ITRTTE 

(b) TTrd 	trr---cff TR TtIT'd 
(c) 0R4 

21/2x2=5 
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